
EN

Ortho-Safety-Collar
Assembly instructions



2     

Safety notices .................................................................................................................  3
General information ......................................................................................................  4
Intended use ....................................................................................................................  5
Scope of delivery ............................................................................................................  6
Installation .......................................................................................................................  7
General notes on care .................................................................................................  10
Statutory warranty / guarantee ..............................................................................  11

The present assembly instructions is the translation of the original assembly 
instructions.

Contents



   3

Notice 
Provides information about how 
to handle the product or refers to 
a passage in the user manual that 
deserves special attention.

Safety notices

This user manual contains various types of notice.
The notices are designed as follows:

Separate instructions 
Refers you to other assembly  
instructions for your FS200 Life 
which describe the respective  
assembly step in more detail if  
needed.

Caution 
Warns you about incorrect 
behaviour that can result in  
material and environmental  
damage.

Danger 
Potential hazards for your health 
and the health of your co-riders and 
other road users if you fail to observe 
the respective instructions or do not 
take corresponding precautions.



4     

The Ortho-Safety-Collar is an attachment for the transport box of the  
FS200 Life. It increases the child’s safety during transport and also serves  
as a convenient headrest, should your child fall asleep during the ride with  
your Ca Go.

Fig. 1

Fig. 2

The Ortho-Safety-Collar is the  
required basis for our All-Weather-
Top (Fig. 2).

General information



   5

Even when the Ortho-Safety-Collar 
is used, all children must be seated in 
appropriate seats (suitable for their 
height and weight) and strapped in 
safely. We strongly recommend using 
bicycle helmets.

Intended use

The Ortho-Safety-Collar is not  
compatible with the Life Soft Top, 
nor with the transport box lid.

The screw connections should be 
checked for tight seat at regular in-
tervals and retightened as required. 
If the Ortho-Safety-Collar shows 
cracks or signs of deformation after 
a crash or collision, it must be re-
placed (safety-relevant component).



6     

Scope of delivery

Fig. 3

The Ortho-Safety-Collar consists  
of several individual parts, EPP, 
moulded sheet metal components 
and screw connections. It is delivered 
pre-assembled (Fig. 3).

Assembly requires the following 
additional tools:
Allen key, 5 mm, and Torx® T30



   7

Installation

Fig. 4

If Ca Go Ergonomic-Child-Seats 
are already installed in the box, they 
have to be removed before installing 
the Ortho-Safety-Collar. To do this, 
remove the two M6 screws (5 mm 
Allen key) and lift out the Ergonomic- 
Child-Seats (Fig. 4). 

You can find more information in 
the assembly instructions for the 
Ergonomic-Child-Seat by Ca Go.



8     

The Ortho-Safety-Collar can now be placed on the edge of the transport box. 
The holes of the connection plates must be positioned above the threads in  
the transport box (Fig. 7).

Fig. 5 Fig. 6

Fig. 7

Remove the M6 screws at the transport box frame/steerer tube  
(5 mm Allen key) (Fig. 5) and the M6 countersunk head screws of the  
side plastic cover (Torx® T30) (Fig. 6).



   9

Finally, the Ergonomic-Child-Seats can now be reinstalled (Fig. 10).

Fig. 8 Fig. 9

Screw the side plates of the Ortho-Safety-Collar, including the plastic covers, 
back on using the M6 countersunk head screws, but do not fully tighten the 
connections yet (Fig. 8). 

As the next step, the M6 screws can be screwed in. To do this, press down at 
the centre of the Ortho-Safety-Collar so that it sits flush on the edge of the 
transport box, then tighten the M6 screws to 5–8 Nm (Fig. 9). Now also tighten 
the side plates of the Ortho-Safety-Collar to 5–8 Nm.

Fig. 10

You can find more information in 
the assembly instructions for the 
Ergonomic-Child-Seat by Ca Go.



10     

The cleaning and care requirements for the Ortho-Safety-Collar are the same 
as for the transport box. In many cases, water is all that is needed to do the 
job. If needed, you can use a mild detergent, such as dishwashing liquid or 
hand soap.

General notes on care

Never use aggressive cleaning agents, 
acids or solvents to clean the set.  
Such substances can corrode or  
damage surfaces. This may affect  
the stability of the components.  



   11

Statutory warranty / guarantee

Service

The legal statutory warranty applies. You can find more details on the warranty 
on our website: www.cagobike.com/en/warranty

Export to the USA and Canada is not permitted (product liability)!

If you have questions concerning this user manual, please contact your  
Ca Go dealer or your Ca Go service team.



It
em

 n
o.

 9
30

 0
0

5 
48

Managing directors: Franc Arnold
Company register
Court of record: District Court Koblenz / register no.: HRB 26998 / VAT Id no. DE326206636
Responsible for distribution and marketing of the user manual: Ingo Kahnt
Ca Go Bike GmbH reserves the right to change product specifications without prior notice. 
Typographical errors, mistakes and modifications reserved. Version of 03/2023

©Reproduction, reprint and translation, as well as any use for economic purposes (including as extracts, in print or electronic form) 
without prior written approval is forbidden.

Published by:

Ca Go Bike GmbH
Am Autobahnkreuz 7
56072 Koblenz
Germany
+49 261 914090-600
info@cagobike.com
www.cagobike.com


